
    17/3   4/4

                                                               3/?  
                        15/9                  6/6               5/3            8/?           4/2         8/7

   7/5                             4/4                              4/?    12/?

               6/1              1/1   4/3            5/?  
                      7/?                                                                                                        9/9

6/1

         5/5 6/?

In this network an entry of the form n/m represents a flow of size m through an edge with 
capacity n. 

Let us try to fill in the “?” so that the flow represented by this diagram will be a proper 
flow.
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